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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Marks are indicated on right side.

1  Prove that : 20
b, —b, ;b
b =227 3730
(1) 12.3 1— b23b32
@) 2373151270123 02310315
3) bipsbys 1515 —1
by1 3631 b3
2 2 2
4) 1_’”1.23=(1_’”12)(1_"13.2)
OR
1 (a) Explain : Multiple Correlation and Partial Correlation. 5
(b) What is residual ? State its properties. 5
(¢) In a certain trivariate distribution 10
o, =3, o0,=95, 0, =25
rig = 0.7, ri3 =06, ry93 = 0.6
Find
(1) T3
@) Ry g3
) bigs
2 (a) Explain the following terms with illustrations. 10
(1) Random Variable
(2) Sample space
(3) Probability distribution
(4) Conditional Probability
(b) In a screw factory, machines A, B and C 10

manufacture respectively 25%, 35% and 40% screws of
the total. It is found that 5%, 4% and 2% are defective
screws respectively. A screw is selected at random from
the production and is found to be defective. What is the
probability that this screw was manufactured by
machine A ?

OR
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2 (a)
(b)
©

3 (a)
(b)

(b)

4 (a)
(b)

Define Mathematical Expectation. State its properties.

Prov that E (xt+y) = Ex) + E (y)
A r.v. x has following prob. distribution.

x: | 2 |[-1] 0 [1] 2
p(x): [0.15 2k [030 [% [0.10

Find :
1 k

@)  E(3x+1)

3 V(3x+1)

State properties and uses of binomial distribution.
Obtain mean of Poisson distribution.

OR
State properties and uses of hypergeometric
distribution.
The prob. that a cricketer can hit a six on any ball

1
is 3 Find the prob. that he will hit 3'? six on

the 6th ball.

State properties and uses of normal distribution.
Find the moment generating function of normal

distribution.
OR

4 Write short notes on :

1)
@)
(3)

Gamma distribution
Beta-1 distribution
Beta-2 distribution
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